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Introduction

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS and
A Level Business (9609), and to show how different levels of candidates’ performance (high, middle and low)
relate to the subject’s curriculum and assessment objectives.

In this booklet candidate responses have been chosen to exemplify a range of answers. Each response is
accompanied by a brief commentary explaining the strengths and weaknesses of the answers.

For each question, each response is annotated with a clear explanation of where and why marks were
awarded or omitted. This, in turn, is followed by examiner comments on how the answer could have been
improved. In this way it is possible for you to understand what candidates have done to gain their marks and
what they will have to do to improve their answers. At the end there is a list of common mistakes candidates
made in their answers for each question.

This document provides illustrative examples of candidate work. These help teachers to assess the standard
required to achieve marks, beyond the guidance of the mark scheme. Some question types where the
answer is clear from the mark scheme, such as short answers and multiple choice, have therefore been
omitted.

The questions, mark schemes and pre-release material used here are available to download as a zip file
from Teacher Support as the Example Candidate Responses Files. These files are:

Question Paper 12, June 2016

Question paper 9609 _s16_gp_12.pdf
Mark scheme 9609 _s16_ms_12.pdf
Question Paper 22, June 2016
Question paper 9609 _s16_gp_22.pdf
Mark scheme 9609 _s16_ms_22.pdf
Question Paper 32, June 2016
Question paper 9609 _s16_gp_32.pdf
Mark scheme 9609 _s16_ms_32.pdf

Past papers, Examiner Reports and other teacher support materials are available on Teacher Support at
https://teachers.cie.org.uk

4 Cambridge International AS and A Level Business 9609
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Introduction

How to use this booklet

Example candidate response — high Examiner comments
| — ; —y It is useful, although
s &mﬁg_.@&m_,_mﬂaﬁi o not always ﬂecesgaw
b : i K _in The procet zf prociuction . | to start off with a clear
: . LT ' ﬁﬁ At
Answers by real candidates in exam - A =] ?{ . \
. : ey _eie, Examiner comments are
conditions. These show you the types mm& o xam!

of answers for each level. = (2] alongside the answers,
Discuss and analyse the answers with MQQ—%JMM' linked to specific part- of the
your learners in the classroom to JM%JMME% answer. These explain
improve their skills. ‘ AR L= - where and why marks

\\ M@Eﬁﬂ_@jﬂ&i‘_ were awarded. This helps

IoWim@)_Tething_ o ﬁggg_%:_mamgg__ you to interpret the
- 7 sazle . Maws_Tho_averase cort ool €l ©| iandard of Cambridge

MEMQ Lﬁjﬂ;—bé_g%; LougingAy - ¥E4 exams and helps your
\ee. recky ced\ so, f There 18 {pracon | learners to refine their

Worease  n_demand_, . Leoi inven . exam technique.
T by customer_Sochibinestion Gadto @ 1| S0 J

How the candidate could have improved their answer

The second cost of customer safisfaction 1s not as well Thi lains how th didat Idh . d
benefited from acknowledging that products will be un IS explains how the candidate could have Improve

hence leading to disappointment. their answer and helps you to interpret the standard of
Cambridge exams and helps your learners to refine

In addition, three benefits have been explained. Presul exam technique.

rather than foreseen but the candidate has explained s

answer.

T

Common mistakes candidates made in this question

(a) Not being able to move b‘?*’“”d Level 2 due fo ”D.t YT This lists the common mistakes candidates made in

of these two types of expenditure and the effect of this . . N

the two expenditures and again the effect of this on the answering each question. This will help your learners to
avoid these mistakes at the exam and give them the

(b) Confusion over what classes as an internal source o] best chance of achieving a high mark.

sales revenue or debentures.
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Assessment at a glance

Assessment at a glance

For Cambridge International AS and A Level Business, candidates:

e take Papers 1 and 2 only (for the Cambridge International AS Level qualification)
or

o follow a staged assessment route by taking Papers 1 and 2 (for Cambridge International AS Level
qua}lification) in one series, then Paper 3 (for the Cambridge International A Level qualification) in a later
series

or

o take Papers 1, 2 and 3 in the same examination series, leading to the full Cambridge International
A Level.

All components are externally assessed.

Component Weighting
AS Level A Level

Paper 1 Short answer and essay 1 hour 15 minutes
Section A: Four short answer questions (20 marks)

20% 10%
Section B: One essay from a choice of three questions (20 marks)

20% 10%
Based on the AS Level syllabus content
40 marks
Paper 2 Data response 1 hour 30 minutes
Two data response questions based on AS Level syllabus content 60% 30%
60 marks
Paper 3 Case study 3 hours
Five questions and one essay (from a choice of two) based on a case
study

- 50%

Based on the additional A Level syllabus content and also assumes
knowledge and understanding of the AS Level syllabus content
100 marks

Teachers are reminded that the latest syllabus is available on our public website at www.cie.org.uk and
Teacher Support at https://teachers.cie.org.uk

6 Cambridge International AS and A Level Business 9609
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Paper 2 — Data response

Paper 2 — Data response

Question 1

Example candidate response — high

Examiner comments

I ai |0ppoctunity comt recers €0 Bne naxk oesk Optypn boot |
\2_CONSUMNEES. U2 Lp PYenouin 55;.9&0.&; kA
cose it uwould e Hauic axe posdlrke. Scenked |
CondiL ﬂﬂox_m&g_mam.d_mu.ebm_gw&u,@___

\__ladd

Mouhek cesearcia _Cepers to ¢ 3 k}'\_Ld
eseacatac _busuness _condiutts 0N das oot

onO(Es  COASUTRET CuStaNne o\&eﬂTwLLs_
clonary md,smad_uu:j_r_csm _Csmgr_ﬂ_rcswdﬁ

{

s_researc  Bnok tae busoiess.ownes conduacks |

Gschp LS moce accucake 05 tis SpecipiCio |

Lanus husm_m&@;up_w;d&t&_&cmdo‘cgﬁmw

e pass &2 anodysing and using- oot 1o 1aQN beed,
Conduacked oy ohanc peeple..\etsalt as_occurate, buds

s_ess_Oxpenstve ond (08S Bloe cont Lnaing.

e This first sentence is a
reasonable definition of
opportunity cost. The
second sentence is not
needed for a definition,
but would be part of an
explanation.

Mark for (a)(i) = 2/2

e The first part of this
sentence repeats the
same terms as the
question. This adds
nothing to the answer
and wastes valuable
time.

e Understanding that this
is to do with the
customer base is worth
a mark.

9 Primary’ and
‘secondary’ are part of
a good explanation; the
second mark is gained
here.

e Here, the answer
digresses into
describing primary and
secondary research
and does not answer
the question. However,
the last sentence
shows that the
candidate knows that
research can be time-
consuming and
expensive, so the third
mark is gained. If the
candidate had just
stated that market
research can be
expensive, this would
have been more
succinct and still
gained all three marks.

Mark for (a)(ii) = 3/3

Cambridge International AS and A Level Business 9609



Paper 2 — Data response

Example candidate response — high, continued

Examiner comments

E ot | St =f) 750-25002 250 waiks__
§ bh’ P CL&Q-SQ@X&*%&%M&_MM&_: naung the |

Prics OO prodMCE—\OASLO 0N e CONSwMLEdennond.
o (@RI \S drnepdiol, espeatally to Tong, ecause.

e moeons Bnox e ws thaey tondecrease ine Sl
prlee. Lilaen SIS o Ba eSS Mo expecked, 80.&

vnlrenses demnand por tae padun GSA ATs cope. |

s&us_gmw__b\é_\blg,_mm%_mm

o um_w{(\iﬁ\ue,m&_wmm_&_ﬂssm{%__
POC_O-SON _‘S&w,.buam_m_scwm‘d_gm

The candidate has
tried to use the actual
changes, rather than
the percentage
changes. Although this
gives a wrong answer,
the fact that the
candidate has taken
the change in QD and
divided by the change
in price means that one
mark can be awarded.
If the candidate had
only given the answer
and not shown their
working, then this
would not have earned
any marks.

Mark for (b)(i) = 1/3

©

The candidate has little
idea what PED is, or
what it is used for.

There is some
understanding here of
the law of demand (i.e.
when price goes down,
demand will usually
rise), but this does not
answer the question.

Unclear where this
figure comes from, and
there is no real use of
PED explained here.

If the candidate had
used their wrong
answer to (b)(i) (250) to
suggest that SC should
not decrease the price
of the candles because
it is such an elastic
response and would
decrease revenue, then
they would have gained
full marks. If a numeric
answer is wrong, even
if it is ridiculously
wrong, then use of that
figure can be rewarded
as if it were correct in a
subsequent answer
under the Own Figure
Rule (OFR).

Mark for (b)(ii) = 0/3

Cambridge International AS and A Level Business 9609




Paper 2 — Data response

Example c

andidate response — high, continued

Examiner comments

Olsye ek VRl are OPaLS sed by e ot ASUNEST -«
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thi_oi_ammewk,_tgéaS&_nms.QMﬁ_mm_
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LOASLL BURLARLS. Tine epore  \nef (it objeckive
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NO_NO¢ A A
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O efea ke QU o ob:)_e_c,tw_e,,@
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(S 1S as newo.sole troder puguness-with_oaleonited |
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hes QV“Q)MQLQLC_C{E?_O(‘_@KOMQMS-.V.\Uﬁbu&‘iﬁ\&ﬁwM
This_oodd_ead_ko_dnereased_SolEs,_whicn coudd

pEss Guuas \ael O lourgee pociek Snor. At a
Gesulk, SR o) .o nead gp e Compeiitionond ner

DuSURESS {X_Mace tiun@_@o_ggcv_"\,_\/_

F\nOHmeLccqsm\_ud\L\,.\j_la:s.ﬁ_&'_&_obg(_Qh.v.es_m‘gmange

IS_( e Se denelops G otlomte (OCR-commests. lp 3O
hec Olbjeckive 00y ke ko creoke oo sUCCesSeul,

BXXrackive and USeLul_uensite, Tals wildl e

lopodgor Joute._arnhere custoonees Wl lee ablete

BCCess fbustaes, Leoding ko ologed Customes.
base . S Eucthaconoce., e couldd ;

=SS

r\\mo&&tlua_tmmgh_wow\_m_.mo.uﬂa).—wk\iem_' ods|

@ Good contextual

understanding of
objectives. The
candidate earns 3/4
marks for knowledge
and application.

More contextual
understanding, but no
analysis has been
included yet. The
answer gains all of the
knowledge and
application marks (4/4)
at this point.

A piece of good
analysis which shows
the full impact on the
business of this
change in objectives. If
the answer had just
stated that it could
increase sales, then it
would be limited
analysis and only worth
1/4 analysis marks.
However, as it goes
further, it is worth 3/4
analysis marks. At this
stage in the answer,
the candidate has
gained a total of 7/8
marks. As the rest of
the answer fails to
maintain this level of
analysis and all of the
application marks have
been gained, this is the
most this answer will
earn.

The start of some
analysis here, but only
limited, so does not
add to the marks. If
they had gone on to
suggest that the larger
customer base could
increase sales and
could lead to an
increase in profit and
income for Jane, then it
would be have
contained good
analysis and gained
the last mark available.
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Paper 2 — Data response

Example candidate response — high, continued

Examiner comments

m_q_gnc\_cep_qmwf_\_amo\_éo&mmug_m&

The muﬁmmy@_mmmmdeg'_pc&ca,_pmductrﬂ
place 00 profaotioN. 3
\__Lucu o2 comend_t o J0U0L. COCAAIEY O
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00 ONECLe cktve o cuna. Stioke. Y- and rvenue nas_|
oA P —

\oemJ&A_uss_tumﬁe{xpm - eerapes Mo, as one |
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J
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por SC Gtk Ge (S 0MOp a0 e a naw_lputg

@ This is a separate
piece of analysis and
again only limited. One
piece of good analysis
is always worth more
than several pieces of
limited analysis.

Mark for (c) = 7/8

@ There is nothing wrong
with putting the
recommendation at the
beginning, but it is not
worth any marks at this
stage because it has
not yet been justified. It
is often best to leave
the recommendation
until after the analysis
and arguments have
been put forward as
this is a more logical
flow and helps the
examiner to follow the
reasoning.

@ Nice contextual
understanding of price
and therefore worth 3/4
marks for knowledge
and application.

@ Good analysis here:
the candidate goes
beyond the idea of just
becoming more
competitive and takes
the point through to
increasing sales and
then revenue. At this
point the candidate has
6 marks in total (3/4 for
knowledge and
application and 3/7 for
analysis and
evaluation).

@ This part of the answer
is much weaker
because it is general
and not contextualised.
It therefore adds
nothing to the marks
already gained.

10
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Paper 2 — Data response

Example candidate response — high, continued

Examiner comments

208

mmjmm_b.ud%@t_;ﬁam_wiﬂ_&tm_(ﬂ_ -

los0p e Ousmumms.@,_wm’%m_mmsm_w_\i_
DAL LOM. CRMRAUAR

la_conduusion, \oRliuve thhok o egpect/e marliy

aoix o SUSeecond (rauc op R 4oduQq (S pelte

ound_PIOMOEN_as ik (S a sonoldlbuseness Wnada

@

needs o \oe 0Noce nouia 0 Loorose Sadef,

@ This is much better

because it is relevant
to a new business,
showing good
understanding/
application in context
and gaining the last
knowledge and
application mark (4/4 at
this point).

This is another piece of
brief but good context-
based analysis, giving
a total mark at this
point of 8/11 (4/4 for
knowledge and
application and 4/7 for
analysis and
evaluation).

This judgement links
back to the beginning,
where the candidate
suggested that the
business should focus
on price and
promotion. It follows
two pieces of good
analysis and answers
the question, therefore
the mark at this point
increases to 10/11 in
total (4 for knowledge
and application and 6
for analysis and
evaluation).

Cambridge International AS and A Level Business 9609
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Example candidate response — high, continued Examiner comments
Tne_priee 0)0_needs—to—loe octusoke  Bnd relotked- @ The last mark is
kO the Compeiitars_price to_unoease _coletTns awarded fora
WowWA N allow Jane to potuson necwelosite., justification of this
N oy AJan «; . judgement. However,
ROweesCroefrna _wuaej-b.mc_.‘ e pruciung the candidate really
ScCake %H—OG*PCL&*%&EWMW~OF'¢W S —— just repeats their
ookunuue S Yoeain _hdp@M»MQ_MiQuX_@Q.L.,B_Cﬁw analysis and does not
ond__sNoUSkGPRSs COMORISA.Soung (S audd “T‘ﬁ- add to their
k. N $ 5\0‘3—3 O(L(Lﬁmou ZS recommendation. A
BB LA good strategy might

have been to justify
why the other two Ps
are less relevant or to
suggest that the
recommendation
depends upon external
influences. The attempt
to justify only focuses
on price and is general,
so does not gain the
last mark. However,
this is a relatively brief
answer that gains most
of the marks and
sensibly focuses on
two of the elements of
the marketing mix,
which saves time for
later questions.

Mark for (d) = 10/11

Total mark awarded =
23 out of 30

How the candidate could have improved their answer

(a)(i) The first sentence was enough for a complete definition. The second sentence was unnecessary and
could have been omitted.

(a)(ii) This answer could have been much shorter and focused on market research, rather than explaining
types of market research.

(b)(i) PED needs to be based on the percentage change not the actual change.

(b)(ii) The candidate did not answer the question about how the figure they calculated (although incorrect)
could be useful to SC.

(c) The second point could have been analysed in the same depth as the first point.

(d) The recommendation was based on good contextual analysis but it was not fully justified.

Mark awarded = (a) (i) 2/2, (a) (ii) 3/3
Mark awarded = (b) (i) 1/3, (b) (ii) 0/3
Mark awarded = (c) 7/8

Mark awarded = (d) 10/11

Total marks awarded = 23 out of 30
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Paper 2 — Data response

Example candidate response — middle

Examiner comments

&AL Oocn'bmb cesk U ohen yoo  boy Ecme@r\m
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ool morkeb@Tree I pricary  eSeovh
b Secondory h TS ohen
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Lecaoq W dve CT%S% cd s e

ks colled o3 cemeode s dve L/_o;
jbo..e

Bl
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20 &
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The first sentence is a
vague definition. The
example helps to show
that the candidate
knows what
opportunity cost is, but
a quick and accurate
definition would have
been better. This only
just gains both marks.

Mark for (a)(i) = 2/2

Repetition of the terms
in the question that
gains no marks on its
own.

This response attempts
to explain the types of
market research, not
market research as a
whole. A mark is
awarded for knowing
the types, and another
mark can be given for
the implied
understanding that
market research is
expensive.

Mark for (a)(ii) = 2/3

A correct answer with
some of the stages
shown. It is a good
idea to include every
stage in a calculation,
in this case by showing
how the percentage
change in QD and P
has been calculated.

Mark for (b)(i) = 3/3

Cambridge International AS and A Level Business 9609
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Example candidate response — middle, continued

Examiner comments

ke

One berm.k g.if SC e pmcg ebsﬁue

q/__e;w_rzé__d}e'\._mk\%_{f Cioo__ceciStony
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bk - O help by the~ i)
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Lhen  She  \aoered  the i or, her 06

cand®  he & Ey DS

e True but too unspecific.
Just mentioning
candles is not enough
for context. 1/3 marks
at this stage.

e This last point makes
the answer contextual
because the candidate
uses information from
the data about SC to
answer the question. It
would have made more
sense for the candidate
to identify their answer
to (b)(i) as an elastic
response, showing that
Jane should reduce the
price of her candles.

Mark for (b)(ii) = 3/3

Cambridge International AS and A Level Business 9609




Paper 2 — Data response

Example candidate response — middle, continued

Examiner comments
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e This is true, but not

specific to SC. This
therefore gains 1/4
marks for knowledge
and application that is
not in context.

More knowledge
without context about
objectives and no
analysis of the impact
of time on the
objectives or the
impact on SC of the
change. Therefore, this
gains 2/8 in total for
some uncontextualised
knowledge and no
analysis.

Mark for (c) = 2/8
Q Stating the product

sold by the business
(candles in this case) is
not enough to provide
context. There is plenty
of data available to
contextualise the
importance of
promotion for SC.

Although this analysis
goes further than a
basic point, it can only
be awarded marks for
limited analysis owing
to the lack of context.
At this point, the
candidate has gained 2
marks in total (1/4 for
knowledge of the
marketing mix without
context and 1/7 for
analysis and
evaluation).

A second P (Product)
gains a second mark
for knowledge and
application.

This is context linked to
product, gaining 3/4
marks for knowledge
and application.

Cambridge International AS and A Level Business 9609
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Example candidate response — middle, continued

Examiner comments
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@® A third P (Price) which
is in context because
the candidate has
identified that SC has
been trading for a
while. This gains all 4
marks for knowledge
and application at this
point.

@ Limited analysis here:
the point could have
been developed to
cover profit and income
for Jane. This is the
second piece of limited
analysis, so 2/7 for
analysis and evaluation
at this point.

@ This is good analysis;
the candidate gets the
benefit of the doubt
that this is linked to the
point about price
earlier in the
paragraph. This is
awarded 7 marks in
total (4 for contextual
knowledge and
application and 3/7 for
analysis and
evaluation).

Mark for (d) = 7/11

Total marks awarded =
19 out of 30
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Paper 2 — Data response
How the candidate could have improved their answer
(a)(i) A better definition would have gained both marks without the need for an example.

(a)(ii) The focus here should have been on explaining market research, not the different types of market
research. Candidates should avoid merely repeating the content of the question.

(b)(i) The candidate should have shown each stage of their calculation, just in case the answer was wrong.

(b)(ii) Although the candidate gave a contextualised answer, they missed the opportunity to use the answer
to the previous question to gain the contextual marks.

(c) The points made could have been easily contextualised to make them specific to SC. The candidate then
needed to go on and analyse the impact on SC of these possible changes to objectives.

(d) Each point needed to be taken further to show good analysis. There was only one piece of good analysis
at the very end. The attempt at a recommendation was weak and did not show how the points made could
be blended together, or which elements of the mix might be more important than others.

Mark awarded = (a) (i) 2/2, (ii) 2/3
Mark awarded = (b) (i) 3/3, (ii) 3/3
Mark awarded = (c) 2/8

Mark awarded = (d) 7/11

Total marks awarded = 19 out of 30

Cambridge International AS and A Level Business 9609 17



Paper 2 — Data response

18

Example candidate response — low

Examiner comments

TS *r\/e ncoe}\)Q\.‘ Mok Cbnﬂwvxﬁl‘%-%\*-eeﬁ@

S e i e i S i ___d;g\v‘\- sl A\JQ

I \w\mcﬁ_@r_kgﬁ_wod e

Cx ki

T \wakding o setentoh e wocker 2o |
AN AW Achost ‘r'l(ﬁxxe\ Yo Gunauneedin e wocket

&C \‘\r? @ Cnanded) cnd_its _USed 1o have

(S RRPOta 3°3 S QKQOV\Q“\V\ ?0(' Okbt)&ﬂ‘(\@s

F50 e

5 - B 2]

<5

H_gm_i:_j\,a_auagaq_&s’r ch—}bapme}uc% i Ye
vaocket Ltk will \eb e ed0 aain Wglec

DcoQ Yord e Gusoeerd Gual) & \a_:f A

o This only just earns the
full two marks, as the
definition is weak.
However, it does have
the necessary
components for a
definition of opportunity
cost and therefore the
examiner gave the
candidate the benefit of
the doubt.

Mark for (a)(i) = 2/2

e One mark for
understanding that
market research aims
to find out about
consumers and
another mark for a use
of market research (in
market expansion).
Poorly explained, but
some understanding.

Mark for (a)(ii) = 2/3

e This shows some idea
that QD goes on the
top of the equation and
price on the bottom,
but there is no
calculation of the
actual change for both
or the percentage
change for either. If the
candidate had at least
written the formula,
they would have
gained a mark.

Mark for (b)(i) = 0/3

9 The candidate has
tried to come up with
something that might
gain a mark, but in the
end this shows that
they have no
understanding of PED.

Mark for (b)(ii) = 0/3
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Example candidate response —

low, continued

Examiner comments
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e The candidate
recognises that SC has
achieved its objectives
here. This is
knowledge in context
so gains 3/4 for
knowledge and
application at this
point.

Very weak and limited
analysis that SC may
gain more profit from
setting a new objective
to expand. This is
poorly written, but just
gains 4 marks in total
(3 marks for contextual
knowledge and
application and 1 mark
for limited analysis).

Mark for (c) = 4/8
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Example candidate response — low, continued

Examiner comments
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e There is no mention of
any of the elements of
the marketing mix at
this point so this is
irrelevant.

@ A mark for knowledge
of price as an element
of the marketing mix.

e A mark for contextual
understanding of
promotion as an
element of the
marketing mix. This is
contextual because the
data makes it clear that
Jane wants to develop
a website. This
increases the
knowledge and
application mark to 3/4
at this point.

@ Some limited analysis
shown here, as this
promotional method
(the website) could
lead to expansion,
which is an impact on
SC. It is weak and
does not go any
further, resulting in a
total mark for this
response of 4/8 (3/4 for
knowledge and
application and 1/4 for
analysis).

Mark for (d) = 4/11

Total marks awarded =
12 out of 30
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Paper 2 — Data response

How the candidate could have improved their answer

(a)(i) This was a weak definition that only just earned both marks. A textbook definition would have
demonstrated much better understanding.

(a)(ii) The candidate stated that market research is used for market expansion. However, there are many
other uses of market research which could have been mentioned to gain the third mark.

(b)(i) The candidate obviously had no idea of how to calculate PED. If just the formula had been learned and
written here, one mark could have been gained.

(b)(ii) No understanding of PED was demonstrated here, so no marks.

(c) There was some context here, but far more could have been used to gain four marks for knowledge and
application. The analysis was limited and basic. The candidate could have gone further and shown the full
impact on the business of a new objective, such as expansion, i.e. more customers, more revenue, more
potential profits and a higher income for Jane.

(d) The answer was too brief for a question with 11 marks. There was only one piece of context (very weak)
and one short piece of limited analysis. The candidate could have taken each element of marketing mix they
used and applied it to the context of SC, showing the impact on the business.

Mark awarded = (a) (i) 2/2, (ii) 2/3
Mark awarded = (b) (i) 0/3, (ii) 0/3
Mark awarded = (c) 4/8

Mark awarded = (d) 4/11

Total marks awarded = 12 out of 30

Common mistakes candidates made in this question

Too much time was wasted on (a)(i). A definition is a simple, clear thing that can be learned and then
repeated in the examination.

There was not enough focus on the question in (a)(ii). This was about the term ‘market research’, not about
the types of market research.

There was a general lack of application to the specific context in the answers to (b)(ii), (c) and (d). All these
responses should have focused on the business in the data, not businesses in general.

There was a lack of knowledge of how to calculate and use price elasticity of demand. There will always be
calculation questions on Paper 2, so all the potential calculations in the specification should be learned.

Explanations and definition questions should avoid repetition. The words used by candidates should not be
exactly the same as the words in the question, as this does not demonstrate understanding.

Good analysis must be in context and show all the links in the chain of impact, consequence or reaction. For

example, it is not enough just to suggest something increases sales; candidates need to say how this
impacts on the business. Answers too often left the examiner thinking ‘so how does this impact SC?’.
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Question 2

Example candidate response — high

Examiner comments
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The candidate correctly
identifies that
redundancy is about
the job no longer being
needed, not the
employee.

Mark for (a)(i) = 2/2

A mark for two
businesses working
together.

This is unnecessary,
and since it repeats
elements from the
given data it does not
add to the answer.

A second mark for
understanding that the
businesses are likely to
continue separately at
the end of the venture.

Mark for (a)(ii) = 2/3

A good response which
outlines all the stages
in the answer. Very
clear and well set out.

Mark for (b)(i) = 2/2

The candidate has
used the data to
recognise that the
revenue has
decreased because of
the price falling. At this
point the candidate has
gained 3/4 marks for a
contextual answer.

The response then
goes further to fully
explain the impact on
MS. All of the marks
have been gained by
this point so the
second paragraph is
unnecessary.

Mark for (b)(ii) = 4/4
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Example candidate response — high, continued

Examiner comments
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@ There is obvious

®

knowledge of labour
intensive production
here and a little
context/application to
MS in terms of the
need for flexibility
because MS makes a
range of shoes. The
candidate gets the
benefit of the doubt
that this is what they
meant.

A clear chain of good
analysis that is based
on a contextual point.
At this point in the
answer, the candidate
has 3/4 for knowledge
and application and 3/4
for analysis.

The fact that the
competitors use capital
intensive production
makes this point
contextual, so 4/4 for
knowledge and
application at this
point.

Again a chain of good
analysis making this a
full mark answer.

Mark for (c) = 8/8
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Example candidate response — high, continued

Examiner comments
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@ Knowledge of bank
loans as a source of
finance, with a clear
chain of analysis
looking at both the
advantages and
disadvantages of MS
using a bank loan
(context). One source
of finance which has
been evaluated in
terms of a two-sided
argument gains 5/7 for
analysis and evaluation
here. At this point, the
response has gained
8/11 marks (3/4 for
knowledge and
application and 5/7 for
analysis and
evaluation).

@ MS is a private limited
company, so
partnership is not
relevant to the context
here. However, the
candidate was given
the benefit of the doubt
that they were
suggesting an extra
business joining the
joint venture in order to
reduce the amount
needing to be funded
by MS. In this case,
this is a contextually
relevant source of
finance.

@ The candidate makes a
judgement that a new
partner is safer, then
justifies this, gaining
full marks.

Mark for (d) = 11/11

Total marks awarded =
29 out of 30
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Paper 2 — Data response
How the candidate could have improved their answer
(a)(i) This could have been slightly more succinct.

(a)(ii) There was repetition from the case study which did not show understanding of the required term. If an
example is to be used, it should not be from the data.

(b)(ii) All the marks were gained in the first paragraph, the second paragraph was unnecessary.

(c) The candidate should have included better context for their first point. This is just good enough to get the
marks.

(d) The candidate used a technical term (partnership) in a general way. This was not penalised but could
have led to a reduced mark as it might have been considered as a non-contextual point. Terms need to be
used with accuracy and in a way that is specific to the case study given.

Mark awarded = (a) (i) 2/2, (ii) 2/3
Mark awarded = (b) (i) 2/2, (ii) 4/4
Mark awarded = (c) 8/8

Mark awarded = (d) 11/11

Total marks awarded =29 out of 30
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Example candidate response — middle

Examiner comments
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e A perfectly good
definition. Both marks
awarded.

Mark for (a)(i) = 2/2

e Good understanding
that a joint venture is
two or more
businesses and that
the combination could
boost performance.
Two marks at this
point.

©® The point about liability
and partnerships does
not answer the
question, but a benefit
of the doubt mark is
given for the idea of
combined resources/
support from two
businesses.

Mark for (a)(ii) = 3/3
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Example candidate response — middle, continued

Examiner comments
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e The candidate does

not take off the finished
goods inventory left at
the end of the year.

Mark for (b)(i) = 1/2

e This figure is actually

wrong as there was a
decrease of $720,000.
However, because the
candidate has used
their incorrect answer
from (b)(i), they are not
penalised again (under
the own figure rule
[OFRY), so gain full
marks.

Mark for (b)(ii) = 4/4

@ Contextually relevant

use of the data to show
the decrease in
revenue that came
from a decrease in
price. This is fully
explained.

Good knowledge of
labour intensive
production but no
context, so 2/4 marks
so far for knowledge
and application.

Analysis which has a
chain of analytical
points but which is not
in context so can only
be credited as limited.
1/4 for analysis at this
point.

Another piece of
analysis, but as this is
all non-specific, the
candidate has reached
the maximum mark for
a non-contextualised
answer (4/8).
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Example candidate response — middle, continued

Examiner comments
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@ No context, so this
does not improve the
answer any further.

Mark for (c) = 4/8

@ Knowledge of internal
sources of finance and
some analysis, but no
context.

@ Again knowledge and
limited analysis, but no
context. This has now
reached the maximum
mark for a non-
contextualised answer
which is 4/11.

@ No use of context.

@ No use of context.
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Example candidate response — middle, continued

Examiner comments
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@ The reference to the
actual figure needed by
MS, added to the point
that an overdraft is
inappropriate in this
case constitutes
contextual application
so gains 3/4 marks for
knowledge and
application.

@ This is just enough for
good analysis as it is in
context and goes
slightly further than
saying that MS would
have difficulty
repaying, by linking this
to MS's decreasing
revenue. This
paragraph alone gains
6/11 (3/4 for
knowledge and
application and 3/7 for
analysis and
evaluation). The rest of
the answer does not
add to this mark. This
shows the importance
of context over general
points.

Mark for (d) = 6/11

Total marks awarded =
20 out of 30
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How the candidate could have improved their answer
(a)(i) The first sentence gained both marks. The rest of the answer was unnecessary.

(a)(i) A lot of wasted words about partnership and limited liability, which did not focus on explaining a joint
venture.

(b)(i) A calculation which earns a potential two marks is likely to have two stages; this answer only performed
one of the two.

(b)(ii) There was no need to quote the figures from the case study as, by using them, the answer will be
contextual.

(c) There was good knowledge here and some attempt at analysis but the answer was weakened by a lack
of context. The maximum mark this answer can gain without context is 4/8.

(d) If the candidate had only written the penultimate paragraph, they would still have been awarded 6/11.

One contextualised point is better than any number of general ones.

Mark awarded = (a) (i) 2/2, (ii) 3/3
Mark awarded = (b) (i) 1/2, (ii) 4/4
Mark awarded = (c) 4/8

Mark awarded = (d) 6/11

Total marks awarded = 20 out of 30
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Example candidate response — low

Examiner comments

L Qa

- Sy

[} ' . . )
; ‘.Q“ Lanévqg\gi__csz__-_\ae._g% Mew .o

2 \»ow\cer/ ‘a_u—-__%;\'_;__mxg_g . Ja i aAS PSRN

LaVN VL Y, T 3 <A.Q.A__.'__._;_.§,¢>f @z \sc\\b o

]

_S_O_..h__,___\)_ftl < \J&it. . .\k& S;:w'.‘s\-\ [ A )

RE. "8

v &o‘w\\' \J_e«\r.:fg‘ ' e aneX\ ev

L \suetviess o k&___&)ﬁib_%és_m;m\\bgge__

. O WU L e VN, S YL | S g | q,};_cri'

EMossivnese,  as  owe i Nvese o dwe

Codeked Mo el oMo, -‘I—\sr—&_eso-_\f_\__
e A-ff.,‘_"_‘". e ¢.7‘§ - o X o L4
AL _b\') 3.2
(§->- Ks \(—J'V‘.y\c\"s busivness s owek  cowa _g&;'gs_i:)_g‘i

ein__wnil c,e;\:__~grg___\cqsﬁ__¥;3\_a___g_g_\&=¥:._&e~%3

BT e Movsivaesé  is- %as\ Letinae

Ny
Vs ctovmommies . of  sseke, Voecaovse Tof Mae |

NaNsour - Sawmmoser’ v

s visisacy o

| Cewe e Cum - \mmc\— P “ﬁ_’.b___%e_}&-) ;_\l_\____-__-,j

< S) <'_~'¢P=LSC_____€-_/3..CL$.' s Nace

DA Lo es, %\&Lé&_;.iméigs&s&_;;ﬂcxk-m%-”_\-!;e!.'.“\&s:'f

(< kec_d:._wa 'Q-:LC\__\m;e/_\_—é__.___!-')D‘\lt'f\' D &

Eye~_ T

¢e&\7s;ds._§¢m&ee_,_s\_w.sfhb_;_s;qm.mg Y

S

NAMEQ_, \;_;i;'_\ T P S— -
—V \,v i é

o Redundancy does not
mean the worker is no
longer needed, it
means the job/role is
no longer needed.

e This is awarded two
marks because the
second half shows that
the candidate knows
what is meant by
redundancy.

Mark for (a)(i) = 2/2

e This really defines a
merger, which is
different from a joint
venture. In a joint
venture the businesses
do not combine/merge,
so this gains no marks.

Mark for (a)(ii) = 0/3

Mark for (b)(i) = 0/3

e The candidate shows
no knowledge of falling
prices or revenue. This
is an attempt to gain
marks by copying parts
of the data, which is
rarely going to earn
marks.

Mark for (b)(ii) = 0/3
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Example candidate response — low, continued

Examiner comments
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e The candidate may
have some knowledge
of labour intensive
production but it has
not been shown here.
This response includes
some disadvantages of
using labour, but since
the link has not been
made to labour
intensive production,
this cannot gain any
marks. This is a good
example of a response
where the examiner
cannot read into an
answer more than the
candidate has actually
written.

Mark for (c) = 0/8
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Example candidate response —

low, continued

Examiner comments
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e So far there is nothing

that answers the
question. This is just
repetition of the case
study and an
explanation of the need
for the finance.

Knowledge of bank
loans as a source of
finance here. Since this
will allow MS to grow
because of the joint
venture, this is in
context and gains 3/4
for knowledge and
application.

Brief and limited
analysis that bank
loans must be paid
back with interest. This
gains 1/7 for analysis
and evaluation.

This last section is an
analysis of gaining a
source of finance, not
the source itself. This
response gains a total
of 4 marks (3/4 for
knowledge and
application and 1/7 for
analysis and
evaluation).

Mark for (d) = 4/11

Total marks awarded =
6 out of 30
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How the candidate could have improved their answer

(a)(ii) There was confusion between a merger and a joint venture. The candidate needed to be specific
about the term in the question.

(b)(i) The number/calculation questions are rarely difficult and focus on the few numbers in each case study.
Leaving this completely blank without making an effort to use the figures given was not sensible.

(b)(ii) The candidate needed to know about falling prices and revenue.

(c) This candidate misread the question and answered about the disadvantages of using labour, rather than
the disadvantages of using labour intensive production. Although the arguments are similar, the response
must focus on the question set, not the one the candidate thinks has been asked. The candidate needed to
read and understand the question.

(d) The candidate spent too long not answering the question. There was one piece of contextual knowledge
about a source of finance and only one limited piece of analysis based on this.

Mark awarded = (a) (i) 2/2, (ii) 0/3
Mark awarded = (b) (i) NR/3, (ii) 0/3
Mark awarded = (c) 0/8

Mark awarded = (d) 4/11

Total marks awarded = 6 out of 30

Common mistakes candidates made in this question

Too much time was wasted on (a)(i). A definition is a simple, clear thing that can be learned and then
repeated in the examination.

Too many candidates went for the easy calculation in (b)(i) and missed out the leftover inventory. If a
calculation question has two marks, it is likely that there are two stages involved in the calculation.

Failing to provide context in (b)(ii), (c) and (d). All of these responses should have focused on the business
in the data, not businesses in general.

The answer to (b)(ii) is fairly simple when the context is used. Without context, the answer is weaker and a
lot harder to identify. The data is there to help and will guide possible answers.

Candidates must be careful not to confuse terms such as ‘joint venture’, ‘merger’ and ‘partnership’. There
may be similarities but they are very different things.

Good analysis must be in context and show all the links in the chain of impact, consequence or reaction. It is
not enough just to suggest that something decreases motivation, for example; candidates need to show how
this impacts on the business in the case study. Answers too often left the examiner thinking ‘so how does
this impact on MS?’
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